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Hand In.  Use the models on the Day 3 Handout to help with these.

0. Do the Dayo3 problems on WeBWorK.
1. Geometry Basics. Draw Lower(5) and Upper(5) for the function below on the
interval [0, 5].
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2. Geometry Basics. Draw Lower(3) and Upper(3) for the function below on the
interval [1,4]. Caution: Watch out for your heights!
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(b) Use the graph to estimate Upper(3)
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3. Each of the functions below is increasing so the right hand endpoints are used See similar problems on WeBWorK set
to find the upper sums. Fill in the following table (but do not simplify the sum): Dayo3.
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